2 - Lower Air Bag Mount
2 - Upper Air Spring Frame Mount
2 - Upper Air Spring Mount
2 - Axle Straps
2 - Air Bags
1 -10009BAG
20ft - 1/4” DOT Air Line
2 - 11" Black Cable Tie
Air Line Cutter
1-10029BAG1

2 - Air Bag 90° Elbow
2 - Air Bag Inflation Valve

4 - 10mm x 30mm Button Head Bolt

4 - 3/8" x 3/4” Bolt

6 - 3/8" x 1" Carriage Bolt

4 - 3/8" x 4" Carriage Bolt
10- 3/8" Flange Lock Nut

4 - 3/8" x 3/4” Flat Head Bolt
6 - 11" Black Cable Tie



